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GENERAL INSTRUCTION TO THE EXAMINEES: 

1- ijh{kkFkhZ loZizFke vius iz'u i= ij ukekad vfuok;Zr% fy[ksaA 

 

   Candidate must write first his/her Roll No. on the question paper compulsorily. 

2- lHkh iz'u djus vfuok;Z gSA 

 

   All the questions are compulasory. 

3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA 

 

   Write the answer to each question in the given answer book only. 

4- ftu iz'uksa esa vkUrfjd [k.M gS mu lHkh ds mÙkj ,d lkFk gh fy[ksaA  

   For questions having more than one part the answers to those parts are to be 

written together in continuity. 

5- iz'u i= ds fgUnh ij vaxzsth :ikUrj.k esa fdlh izdkj dh =qfV@ vUrj@fojks/kkHkkl gksus ij fgUnh 

Hkk"kk ds iz'u dks lgh ekusaA  

If there is any error/difference/contradiction in Hindi & English version of the 

question paper, the question of the Hindi version should be treated valid. 

 [k.M & ¼v½ 

SCETION-(A) 
 

1- cgqfodYih iz’u & 

    Multiple Choice Question – 

 

     (i)   lekf"V vFkZ’kkL= dh fo"k; lkexzh ugha gS &     ¼1½ 

 ¼v½ fuxZr Lrj   ¼c½ jkstxkj Lrj 

 ¼l½ eqnzkLQhfr   ¼n½ ekax o iwfrZ larqyu 

              Which of the following is not a subject matter of Macro-Economics- 

 (A)  Output Level (B) Employment Level 

 (C)  Inflation  (D) Demand & supply Equilibrium  

  

     



 (ii)   fuEu esa ls iwathxr oLrq dk mnkgj.k ugha gS&     ¼1½ 

 ¼v½ e’khusa   ¼c½ vkStkj 

 ¼l½ ?kjsyw dEI;wVj  ¼n½ xksnke 

              Which of the following is not an example of capital good- 

 (A) Machines   (B) Equipment 

 (C)  Domestic Computers (D) Warehouse 

 

     (iii)  NNP MP ls D;k vk’k; gS &       ¼1½ 

 ¼v½ cktkj dher ij ldy jk"Vªh; mRikn 

 ¼c½ lk/ku ykxr ij ldy jk"Vªh; mRikn 

 ¼l½ cktkj dher ij 'kq) jk"Vªh; mRikn 

       ¼n½ lk/ku ykxr ij 'kq) jk"Vªh; mRikn 

               Meaning of NNPMP is -  

 (A) Gross National product of market price   

               (B) Gross National product of Factor cost 

 (C)  Net National product of market price 

               (D) Net National product at factor cost 

(iv)    dsUnzh; cSad dh LFkkiuk fdl o"kZ gqbZ &      ¼1½ 

 ¼v½ 1935   ¼c½ 1942 

 ¼l½ 1950   ¼n½ 1955 

              In Which year Central Bank was established - 

 (A) 1935   (B) 1942 

 (C)  1950   (D) 1955 

(v)    fuEu esa ls eqnzk iwfrZ dk dkSulk :i laO;ogkj ds fy, lcls rjy o vklku gS& ¼1½ 

 ¼v½ M1    ¼c½ M2 

 ¼l½ M3    ¼n½ M4 

              Which of the following form of money supply is the most liquid and easy to deal with - 

 (A) M1    (B) M2 

 (C)  M3    (D) M4 

 

(vi)    fuEu esa ls dkSulk ctV dk ,d izdkj gS&     ¼1½ 

 ¼v½ larqfyr ctV  ¼c½ vf/k’ks"k ctV 

 ¼l½ ?kkVk ctV   ¼n½ mi;qZDr lHkh 

              Which of the following is type of Budget - 

 (A) Balanced Budget  (B) Surplus Budget 

 (C)  Deficit Budget  (D) Suitable All 

 

(vii)    p;u dh leL;k dk dkj.k gS &      ¼1½ 

 ¼v½ vlhfer vko’;drk  ¼c½ lhfer lalk/ku 

 ¼l½ lalk/kuksa ds oSdfYid iz;ksx ¼n½ mi;qZDr lHkh 

              Reason for the problem of choice is - 

 (A) Unlimited Wants   (B) Limited Resources 

 (C)  Alternative uses of Resources (D) Suitable All 

 



(viii)   rVLFkrk oØ@vuf/keku oØ dk <+ky gksrk gS&     ¼1½ 

 ¼v½ urksnj   ¼c½ {kSfrth; 

 ¼l½ mUurksnj   ¼n½ yEcor~ 

              The Slope of Indifference curve is - 

 (A) Concave   (B) Horizontal 

 (C)  Convex   (D) Vertical 

 

(ix)   fxfQu oLrq esa dher o ekax ds chp laca/k ik;k tkrk gS&   ¼1½ 

 ¼v½ /kukRed   ¼c½ 'kwU; 

 ¼l½ _.kkRed   ¼n½ mi;qZDr esa ls dksbZ ugha 

              Relation between price & demand in Giffin Goods is - 

 (A) Positive   (B) Zero 

 (C)  Negative   (D) None of the above 

(x)    lhekar mRikn dk lw= &       ¼1½ 

 ¼v½ 
  

 
    ¼c½ 

   

  
 

 ¼l½ AP X Q   ¼n½ P X Q 

              Formula to find the Marginal Product is -  

 (A) 
  

 
    (B) 

   

  
 

 (C)  AP X Q   (D) P X Q 

 

(xi)   vkSlr fLFkj ykxr oØ dh vkd̀fr gksrh gS&     ¼1½ 

 ¼v½ {kSfrth;   ¼c½ vk;rkdkj vfrijoy; 

 ¼l½ m/okZ/kj   ¼n½ ^;w* vkdkj 

              The Shape of Average fixed cost curve is - 

 (A) Horizontal   (B) Rectangular Hyperbola 

 (C)  Vertical   (D) ‘U’ Shaped 

 

(xii)   vYidky esa dqy ykxr o dqy ifjorZu’khy ykxr ds e/; varj gksrk gS& ¼1½ 

 ¼v½ TFC   ¼c½ AFC 

 ¼l½ MC    ¼n½ AC 

              In short Run the difference between Total cost and Total variable cost is -  

 (A) TFC    (B) AFC 

 (C)  MC    (D) AC 

 

2- fjDr LFkku & 

     Fill in the blanks – 

(i)  ………………………………. dks vk/kqfud vFkZ’kkL= dk tud ekuk tkrk gSA  ¼1½ 

    ………………………......... is known as founding father of Modern Economics. 

(ii)  ………………………………. Hkkjr esa djsalh tkjh djrk gSA     ¼1½ 

     …………………………….... issues the currency in India. 



(iii)  ljdkj dk gLr{ksi pkgs og ekax foLrkj djus ds fy, gks vFkok bls de  ¼1½ 

    djus ds fy,] ------------------------------------------------ dgykrk gSA 

      The intervention of the Govt. whether to expand demand or reduce.  

        It constitutes the …………………………………………………………. 

(iv)  dsanzhd̀r ;kstukc) vFkZO;oLFkk dk fudVre mnkgj.k-------------------------- gSA  ¼1½ 

    The closed example of a centrally planned economy is ……………………………… 

(v)  Å¡ps rVLFkrk oØ ---------------------------- lUrqf"V@mi;ksfxrk iznku djrs gSaA  ¼1½ 

    Higher Indifferences curve gives …………………………… level of satisfaction / utility. 

(vi)  nh?kZdky esa mRiknu ds lHkh lk/ku ------------------------------- gksrs gSaA   ¼1½ 

    In long run, all factor of production are ……………………………………….. 

 

3- fuEu iz’uksa ds mÙkj 10&20 'kCnksa esa nhft,& 

     Answer the following in 10-20 words – 

 

(i)  ^vkfFkZd ,tasV* ls D;k rkRi;Z gS \       ¼1½ 

   What do you mean by  ‘Economic Agents’ ?     

(ii)  ^vafre oLrq* fdls dgrs gS \       ¼1½ 

   What are ‘Final Goods’ ? 

(iii)  ewY;ál ls vki D;k le>rs gSa \       ¼1½ 

   What do you understand by ‘Depreciation’ ? 

(iv)  udn eqnzkdks"k j[kus dk izeq[k mn~ns’; D;k gS \     ¼1½ 

   What is the main purpose of holding cash reserve ? 

(v)  oLrq fofue; ls D;k vk’k; gS \       ¼1½ 

   What do you mean by Barter System ? 

(vi)  iwathxr izkfIr;ksa dk dksbZ ,d mnkgj.k nhft, \     ¼1½ 

   Give any one example of Capital Receipts . 

(vii)  dhUl dh izfl) iqLrd dk uke fyf[k, \      ¼1½ 

    Name the famous book of Keynes . 

(viii)  dsanzhd̀r ;kstukc) vFkZO;oLFkk ds varxZr lHkh egÙoiw.kZ fu.kZ; fdlds   ¼1½ 

    }kjk fy, tkrs gSa \ 

   Under Central planned Economy, by whom all important decisions are taken by ? 

(ix)  iwjd oLrq ds dksbZ nks mnkgj.k nhft,A      ¼1½ 

   Give any two examples of Complimentary Goods . 

(x)  mRiknu Qyu dh ifjHkk"kk nhft,A       ¼1½ 

   Define Production Function . 



(xi)  ^áleku iSekus ds izfrQy* ls vki D;k le>rs gSa \    ¼1½ 

   What do you understand by ‘Decreasing Returns to scale’ . 

(xii)  iw.kZ izfr;ksxh cktkj esa QeZ dh dqy laizkfIr Kkr djus dk lw= crkb;sA  ¼1½ 

   Give formula to find out Total Revenue in perfect competitive market . 

 

[k.M & ¼c½ 

SCETION-(B) 
 

¼4½ ldy ?kjsyw mRikn (GDP) ds forj.k o dY;k.k esa lEcU/k dks le>kb;s \  ¼2½ 

        Explain the relationship between Gross Domestic Product (GDP) distribution and welfare . 

¼5½ ;fn cktkj dher ij ldy ?kjsyw mRikn (GDPMP) 310 :- gS rFkk  ewY;ál ¼2½ 

   50 :- gS rks cktkj dher ij 'kq) ?kjsyw mRikn dh x.kuk dhft,A   

        If Gross Domestic Product at market price (GDPMP) is 310 Rs. And Depreciation is  

        50 Rs. Calculate Net Domestic Product (NDPMP) . 

¼6½  oLrq fofue; i)fr dh nks dfBukbZ;k¡ D;k gS \ fyf[k,A    ¼2½ 

        What are the two difficulties of Barter System .  

¼7½ jktLo O;; vkSj iwathxr O;; esa varj crkb;s \     ¼2½ 

        Differentiate between Revenue Receipts and Capital Receipts .  

¼8½ ;fn ljdkj }kjk djksa esa o`f) dh tk, rks ml fLFkfr esa iz;ksT; vk; esa D;k ¼2½ 

    ifjorZu gksxk \ 

        If the taxes are increased by the govt. what will be the change in disposable  

        Income in that case.  

¼9½ lkoZtfud oLrqvksa o futh oLrqvksa esa nks varj crkb;s \    ¼1+1½ 

        Give two difference between Public goods and Private goods. 

¼10½ ;fn lhekar miHkksx izo`fÙk (MPC) 0-6 gS rks ljdkjh O;; xq.kd dk eku  ¼2½ 

    Kkr dhft,A 

        Calculate the value of Govt. expenditure multiplier if Marginal Propensity to  

        Consume (MPC) is 0.6 . 

¼11½ O;f"V vFkZ’kkL= dh ifjHkk"kk fyf[k,A      ¼2½ 

        Define Micro Economics . 

¼12½ dqy mi;ksfxrk ,oa lhekar mi;ksfxrk laca/kh fuEu rkfydk dks iw.kZ dhft,&¼½+½+½+½ =2½ 

    dqy mi;ksfxrk (TU)   20  &  53   63  &  76 

    lhekar mi;ksfxrk (MU) 20  18  15  &   8  &  



        Complete the following table  with respect to Total utility and Marginal utility . 

    (TU)   20  &  53   63  &  76 

    (MU) 20  18  15  &   8  &  

¼13½ vYidky o nh?kZdky esa nks varj crkb;s \     ¼1+1=2½ 

        Differentiate between Short run and  Long run. 

¼14½ iw.kZ izfrLFkkiUu oLrq ds fy, vuf/keku oØ dk fuekZ.k dhft,A   ¼2½ 

        Draw the indifference curve for perfectly substituted good. 

¼15½ iw.kZ izfrLi/kkZ cktkj dh nks fo’ks"krk dkSulh gSa \ fyf[k,A    ¼2½ 

        What are two characteristic of Perfect Competitive market . 

¼16½ iwfrZ dh dher yksp (es) dk lw= fyf[k,A      ¼2½ 

    Write the formula for elasticity of supply.  

 

[k.M & ¼l½ 

SCETION-(C) 
 

¼17½ vk; ds orqZy izokg dh vo/kkj.kk dks le>kb;sA     ¼1½+1½=3½ 
        Explain circular flow of Income . 

vFkok 

(OR) 

    jk"Vªh; vk; x.kuk dh fdUgha nks fof/k;ksa dks Li"V dhft,A 

    Explain any two methods of National Income calculation. 

 

¼18½ cSafdx O;oLFkk }kjk lkjo l̀tu dh izfØ;k dks le>kb;sA     ¼3½ 

        Explain credit creation by Banking System. 

vFkok 

(OR) 

    lV~Vk mn~ns’; ds fy, eqnzk dh ekax dh vo/kkj.kk dks Li"V dhft,A 

    Explain the concept of Demand for money for speculative motive. 

 

¼19½ lhekar mRiknu laHkkouk oØ dh rkfydk dh lgk;rk ls fp= dk fu:i.k dhft,A ¼3½ 

        Represent the diagram of Production Possibility Frontier (PPF) with the help of table. 

vFkok 

(OR) 

    vkids vuqlkj cktkj vFkZO;oLFkk esa dsanzh; leL;kvksa ¼fdUgh nks½ dk lek/kku fdl izdkj  

    fd;k tkrk gS \ 

    According to you how does central problems are solved in a Market Economy ? (Any two)  

 



¼20½ dqy laizkfIr dh vo/kkj.kk dks rkfydk o js[kkfp= ds ek/;e ls le>kb;sA  ¼1½+1½=3½ 

        Explain the concept of Total Revenue with the help of Table and diagram. 

 

vFkok 

(OR) 

    iw.kZ izfrLi/kkZ cktkj esa vYidky esa ,d QeZ dh ykHk vf/kdrehdj.k dh leL;k dks js[kkfp= }kjk  

    le>kb;sA 

    Explain with the help of diagram the problem of profit maximisation of a firm in the short run in a  

        perfectly competitive market. 

 

[k.M & ¼n½ 

SCETION-(D) 
 

¼21½ eqnzk ds izeq[k nks dk;ksZa dk o.kZu dhft,A      ¼2+2=4½ 

        Describe the main two functions of Money. 

vFkok 

(OR) 

    Hkkjrh; fjtoZ cSad }kjk eqnzk iwfrZ fu;a=.k ds nks mik;ksa dk o.kZu dhft,A 

    Describe two measures of Control of money supply by RBI. 

¼22½ vk; esa ifjorZu ds dkj.k ctV lsV esa gksus okys ifjorZu dks js[kkfp=  ¼2+2=4½ 

    }kjk Li"V dhft,A 

        Graphically explain the change in budget set due to changed in income. 

vFkok 

(OR) 

    vuf/keku oØ dh nks fo’ks"krkvksa dks js[kkfp= dh lgk;rk ls Li"V dhft,A 

    Explain the two characteristics of the indifference curve with the help of diagram. 

¼23½ ákleku lhekar mRikn fu;e dh js[kkfp= lfgr O;k[;k dhft,A   ¼2+2=4½ 

        Explain law of decreasing marginal product  with diagram. 

vFkok 

(OR) 

    nh?kZdkyhu lhekar ykxr oØ o vkSlr ykxr oØksa ds lEcU/k dks js[kkfp= }kjk Li"V dhft,A 

    Explain relationship between long run marginal cost curve and average cost curve with the help of     

        diagram.  

 


